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x* +4x +5x2 +2x-10=12vVx* +2x +5

x° =Vx+78 +18
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(26— x)V/5x—1 - (13x+14)V/5 - 2x +12,/(5x - 1) (5 - 2x) = 18x+ 32

http://toanphothong.vn/showthread.php?t=449

Jx+14+4/2x—1=3x-1+x

http://toanphothong.vn/showthread.php?t=448

VX2 +2x =3 +4/3x% = 2x —1 = 2x% —x +4/2(x* - 1)

http://toanphothong.vn/showthread.php?t=469
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%/x+a +i/x+2a+i/x+3a=0

Vx*+3x* -4 +3x=+/3x*+16
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x' +1

+Vx+1=vx —x+1++/x+3
x+3

Vax* —6x2 —x+10 =1 - x*/x(x + 1)(x - 2)

http://toanphothong.vn/showthread.php?t=361

http://toanphothong.vn/showthread.php?t=360

3/7X+1—i/xz—x—8 +3/x2—8x—1=2.

X —4x2 —5x+6=37x* +9x -4

http://toanphothong.vn/showthread.php?t=353

http://toanphothong.vn/showthread.php?t=338

2x +5x—-1=7Vx’ -1

\/4x—1 +‘\‘/8X—3=4x4—3xz+5x

http://toanphothong.vn/showthread.php?t=332

http://toanphothong.vn/showthread.php?t=326

2(x* +2)=5Vx* +1

x*+1=2V2x+1

http://toanphothong.vn/showthread.php?t=319

http://toanphothong.vn/showthread.php?t=318

x® —3x* =3x+2\(x+1)°* =0

V3x% +6X+12 +/5x* —10x% +9 = —2x(x +2) + 3

http://toanphothong.vn/showthread.php?t=314

http://toanphothong.vn/showthread.php?t=289

x* —3x? —8x + 40 = 8%4x + 4.

2x% +10x% —17x + 8 = 2x%35x - x°.

http://toanphothong.vn/showthread.php?t=306

http://toanphothong.vn/showthread.php?t=238

Ux-1+Ux+8=-x"+1

16x* + 5 =6V4x> +x.

http://toanphothong.vn/showthread.php?t=678

http://toanphothong.vn/showthread.php?t=647

x> —15x% +78x — 146 =103/7x - 29

2(2x" +1) = 33/x(4x* +1)

http://toanphothong.vn/showthread.php?t=621

http://toanphothong.vn/showthread.php?t=589

Ux+3+Yx+2=Vax2 -7 +Ydax* -8

(x+2)\/2—x2 +3x*—4x-2=0

http://toanphothong.vn/showthread.php?t=325

http://toanphothong.vn/showthread.php?t=579

2
V2x' =3x+1= x -1

2x-3

\/x—\/xz—l +\/x+\/x2—1 =\/2(x2+1)

http://toanphothong.vn/showthread.php?t=549

http://toanphothong.vn/showthread.php?t=465
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VX2 —10x + 393 +/x + 14x + 624 = /2007

3(x* —x+1)=8x(x* +1).

http://toanphothong.vn/showthread.php?t=489

http://toanphothong.vn/showthread.php?t=487

8x’ —8x+3=8xv2x*-3x+1

Yax—1=x316 -Y2x+1

http://toanphothong.vn/showthread.php?t=490

(13 —-4x)V2x -3 +(4x—-3)V5-2x =2+8\/16X—4x2 -15

http://toanphothong.vn/showthread.php?t=889

http://toanphothong.vn/showthread.php?t=881

xvV3x+1-2V3x—2 +Vx +3 =2.

V3x+1+2Vx+3=4+2v2x-1.

http://toanphothong.vn/showthread.php?t=873

http://toanphothong.vn/showthread.php?t=849

\/X—1+\/1—1=X.
X D¢

2+ 339x%(x +2) = 2x + 33/3x(x + 2)°

http://toanphothong.vn/showthread.php?t=317

http://toanphothong.vn/showthread.php?t=787

x+DVx*-2x+3=x"+1

3 3
\/5x+6 +\/x—1=\/X +3 +\/X +8

x—1 5x+6

http://toanphothong.vn/showthread.php?t=763

http://toanphothong.vn/showthread.php?t=760

V2 -x* +1/2—i2=4—(x+1]
X X

2—2—X=X\/\/;+X

http://toanphothong.vn/showthread.php?t=719

http://toanphothong.vn/showthread.php?t=273

(x+15\/;+ 36)(x+5\/;+4) = 520x

(x+15\/;+ 36)(x+5\/;+4) = 520x

http://toanphothong.vn/showthread.php?t=333

http://toanphothong.vn/showthread.php?t=709

Bx+1V2x* -1 =5x" +%X—3

2% —16 = (x + 6), /i:
X—

http://toanphothong.vn/showthread.php?t=1083

http://toanphothong.vn/showthread.php?t=1056

2+x 2-x =2\/5

V2 +24x +\/5—\/2+x

X +3x+1=(x+3Vx*+1

http://toanphothong.vn/showthread.php?t=1044

http://toanphothong.vn/showthread.php?t=986

33

4x—-x" =
1+vx* —8x° +16x> +1

2Wax? —x+1+2x=3Y2x* - x° +\/9X2—4X+4.

http://toanphothong.vn/showthread.php?t=949

http://toanphothong.vn/showthread.php?t=1032

V2x+3+x+1=x> —11x+ 33 +/3x -5

V2x2 +10x +12 +Vx* —4 =2x + 4

http://toanphothong.vn/showthread.php ?t=864

http://toanphothong.vn/showthread.php?t=1013

V2x® +4x+1 =—4x+1+4

X

f 1
X2+ 2%, [x——=3x+1
X

http://toanphothong.vn/showthread.php?t=1018

http://toanphothong.vn/showthread.php?t=357

V3x =2 =—4x* +21x-22

\/1+\/2x—x2 +\/1—\/2x—x2 =2x-1D*'(2x* —4x+1)
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http://toanphothong.vn/showthread.php?t=994

http://toanphothong.vn/showthread.php?t=934

4x* —8x+2x+3 =1

Y3 -%? +(6+%? =3+ (6 +x3-x)

http://toanphothong.vn/showthread.php?t=987

http://toanphothong.vn/showthread.php?t=967

21+3x—Jx+-2=5
Jx

x* = 9x? 4+ 24x —13 = 15x% = 11x + 23

http://toanphothong.vn/showthread.php?t=921

http://toanphothong.vn/showthread.php?t=1296

1) [, 1 23
X—— |4/X" +3x+—=——X
3 9 3

x+V11+vx =11

http://toanphothong.vn/showthread.php?t=31

http://toanphothong.vn/showthread.php?t=514

X’ +4/1-x%) =x42(1-%%)

V3x2 +4x—4 +V6x2 +11x =10 = Vx + 2 +2x+5 +5

http://toanphothong.vn/showthread.php?t=1284

http://toanphothong.vn/showthread.php?t=1245

x> +3x*-333x+5=1-3x

XX +7X+6Vx+3+4xVx+3+5=0

http://toanphothong.vn/showthread.php?t=1209

http://toanphothong.vn/showthread.php?t=1245

x> +3x*-33Y3x+5=1-3x

X—\/X—l—(X—l).\/;+ x’—-x=0

http://toanphothong.vn/showthread.php?t=1212

http://toanphothong.vn/showthread.php?t=1211

x = (2011 +/x)(1 =1 =+/x)*

X +4x=(x+2)Vx*-2x+4

http://toanphothong.vn/showthread.php?t=669

http://toanphothong.vn/showthread.php?t=1170

2
Sox+1+43-2x = F=D

2(x*+x-1) +2x* +2x =3 +/4x+5

http://toanphothong.vn/showthread.php?t=1103

http://toanphothong.vn/showthread.php?t=1093

X =3Y6+Ux+6 =6

(x—x*)(x* +3x+2007) — 2005X\/4 —4x = 30(‘/){2 +x-1

http://toanphothong.vn/showthread.php?t=1457

http://toanphothong.vn/showthread.php?t=1411

8x° —6x2 —3x+6=(5x>-2x—-1)V2x? - 2x -1

(x—\/xz—-l-l)s+(x+\/x2—+1)s=123

http://toanphothong.vn/showthread.php?t=1379

http://toanphothong.vn/showthread.php?t=1375

(x+1)(24Vx +2x+4) - 2x(24Vax* +3) =0

V3 + 2% + 2+ V-3 + X +2x +1 = 2x° + 2x + 2

http://toanphothong.vn/showthread.php?t=762

http://toanphothong.vn/showthread.php?t=1343

xVx® 4+2x+4+2 =-3(x+1)

9(Vax+1—-+/3x-2)=x+3

http://toanphothong.vn/showthread.php?t=1329

http://toanphothong.vn/showthread.php?t=275

10x* +3x+1=(1+6x)Vx*+3

1
X=1+E\/X3+X2—8X—2 +3/X3—20

http://toanphothong.vn/showthread.php?t=477

http://toanphothong.vn/showthread.php?t=477

x=1+%\/x3+x2—8x—2 +3/x3—20

VX2 +2x+22 +\/_=x2+2x+3

http://toanphothong.vn/showthread.php?t=1264

http://toanphothong.vn/showthread.php?t=1635
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V2x2 +16x+18 +Vx2 —1=2x+4

(X+5Vx+1+1=33x+4

http://toanphothong.vn/showthread.php?t=1596

http://toanphothong.vn/showthread.php?t=1612

(4x2—10x+7)(m—m+1J=9

(X—2)\/;+\/X3—8xx/;+4x=4 x’—-2x—4

http://toanphothong.vn/showthread.php?t=1590

http://toanphothong.vn/showthread.php?t=1588

2x7 = 2x* +x—6=(x—1)y/2x(x* = x + 2)

X +6x°-2x+3=5x-1Vx*+3

http://toanphothong.vn/showthread.php?t=1550

http://toanphothong.vn/showthread.php?t=277

22 -x)(5-x) =x++/(2-x)10-x)

9x+8_ 9% +3
3x+2 9x* —x—4

http://toanphothong.vn/showthread.php?t=1392

http://toanphothong.vn/showthread.php?t=1504

x'-3x* —2x+1=(2x-1V2x* +1

http://toanphothong.vn/showthread.php?t=416

http://toanphothong.vn/showthread.php?t=1460

\/x4+2x3+3xz+4x+\/1—2x=4x3—4x4+x+1

VxP+1 2

x*+2 5§

http://toanphothong.vn/showthread.php?t=1458

http://toanphothong.vn/showthread.php?t=1826

8x> —18x+5=339x> - 9x +2

J5x% +4x —vx* —3x—18 = 5vx

http://toanphothong.vn/showthread.php?t=1815

http://toanphothong.vn/showthread.php?t=1814

V3x—2 +3Ja-3x +/2x+7=7

V2x+3 +V4—x =2 +Vx+1

http://toanphothong.vn/showthread.php?t=1408

http://toanphothong.vn/showthread.php?t=1679

(x—z)(sz—2+ ﬂ4x—4)=3x—1

2x° —=x? =3x+1=vVx" +x* +1

http://toanphothong.vn/showthread.php?t=1794

http://toanphothong.vn/showthread.php?t=1760

2x2 —11x+21-3Y4x -4 =0

Yx-1? +x+2)* =x* +x-1

http://toanphothong.vn/showthread.php?t=1785

Jx+2)2x—1) = 3(x+6) =4 —/(x + 6)2x - 1) + 3v/x + 2

http://toanphothong.vn/showthread.php?t=1765

http://toanphothong.vn/showthread.php?t=1669

2(x*-3x-1)=7Vx’ +1

Vax? —1+Jx =252 —x +4/2x +1

http://toanphothong.vn/showthread.php?t=1666

http://toanphothong.vn/showthread.php?t=1661

(V3 -3x)(Viox +1) =1

2x* +7x* +5x+4=2(3x-1)V/3x -1

http://toanphothong.vn/showthread.php?t=1891

http://toanphothong.vn/showthread.php?t=1953

X X X

x% + 5x — 10 = /60 — 24x — 5x°

http://toanphothong.vn/showthread.php?t=1947

http://toanphothong.vn/showthread.php?t=1893

2
2—%=\/1—x+ 1+x

x> —2(x+1)V3x+1=2Vx> +5x+2 —8x -5

http://toanphothong.vn/showthread.php?t=1944

http://toanphothong.vn/showthread.php?t=1905
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Yax—1=x316-Y2x +1

V2x—1+x*=3x+1=0

http://toanphothong.vn/showthread.php?t=536

http://toanphothong.vn/showthread.php?t=1695

X+V5+vVx+1=4

22x + VX +1 4+ (4—x)VW2 —2x = 6Vx* + 2.

http://toanphothong.vn/showthread.php?t=1861

http://toanphothong.vn/showthread.php?t=1824

Y3x® —2x* —2x+1+x-1-Vx*-1=0

2 2
X +\/;+\/x—l_x—l 1 X

= + +
x—-1 x? x’ \/x—l \/x—l

http://toanphothong.vn/showthread.php?t=1797

http://toanphothong.vn/showthread.php?t=1839

3x-1

Vax+1-+3x-2 =

23x+4 +35x+ 9 =x> + 6x +13

http://toanphothong.vn/showthread.php?t=385

http://toanphothong.vn/showthread.php?t=2261

J5-(2x* =3)(x=3)* =2x* +2x> -1

12x -8

VIx’ +16

V2x+4-22-x =

http://toanphothong.vn/showthread.php?t=2399

http://toanphothong.vn/showthread.php?t=936

\/x2+15—\/x2+8 =x+2

(x* —4)Y2x — 3 +2x = 2x3/(2x - 3)?

http://toanphothong.vn/showthread.php?t=2236

http://toanphothong.vn/showthread.php?t=2360

\/E—E—i/xs—3x2+§=l
2 21 7

(x+4)Nx:+1-415)=1.

http://toanphothong.vn/showthread.php?t=2335

http://toanphothong.vn/showthread.php?t=616

1

24x? — 60x + 36 — + =
5x-7 x-1

0

2x—-2)Yax—4 +/2x—2)-3x+1=0

http://toanphothong.vn/showthread.php?t=2299

http://toanphothong.vn/showthread.php?t=2278

m_x3+2xz—3x+l

x> +2

x3/81x—8=x3—2x2+§x—2

http://toanphothong.vn/showthread.php?t=2196

http://toanphothong.vn/showthread.php?t=2656

J2x* +5x+2 —2Vx* +5x—6 =1

/ 1
X2 +2x,|x——=3x+1
X

http://toanphothong.vn/showthread.php?t=2655

http://toanphothong.vn/showthread.php?t=2198

vVx+3+ ax =4\/;
vx+3

VP 4+3x+2 - 2Ux3 +6x+42 =—2

http://toanphothong.vn/showthread.php?t=2566

http://toanphothong.vn/showthread.php?t=2556

2
x’ —3x+2Inx —Eln(x+21nx) =0

\/x+\/x2—4x+5 —\/2x+1+\/4x2—4x+2 =x+1

http://toanphothong.vn/showthread.php?t=2553

http://toanphothong.vn/showthread.php?t=2552

15x° +11x° + 28 =+/1-3x

6 —2x + 6 +2x _§
\/S—X \/5+X 3

http://toanphothong.vn/showthread.php?t=2536

http://toanphothong.vn/showthread.php?t=2535

2x* = 3x* —14x+16 = (28 —4x’ )W/ 2x* - 15

V3x+1-v6-x+3x>—14x-8 =0

http://toanphothong.vn/showthread.php?t=2532

http://toanphothong.vn/showthread.php?t=2453

Suu tam trén cac dién dan toan hoc Viét Nam




Gido vién : Vii Ngoc Thanh THPT MUONG SO

1 1
—+

X J1-x?

=1

3x) —9x+3+3x*+3x°+3=0

http://toanphothong.vn/showthread.php?t=2223

http://toanphothong.vn/showthread.php?t=2493

2
Y7x -8 +,/7 62X =X

X —x* —8x—16 = (x* + 11x* + 44x + 64)3x + 4

http://toanphothong.vn/showthread.php?t=2449

http://toanphothong.vn/showthread.php?t=2438

V2X2 +8x+6 +x: —1=2x+2

\/E P +V1-x +\/§—x2—\/1—x2 =x+1

—X
4

http://toanphothong.vn/showthread.php?t=2199

http://toanphothong.vn/showthread.php?t=2820

x—x/x—l—(x—l)\/;+ x> —-x=0

64x° —12x + 82 = 93/48x — 82

http://toanphothong.vn/showthread.php?t=2802

http://toanphothong.vn/showthread.php?t=2653

V3 42X 42 43 + 2 +2x -1 =2(x> +x+1)

5x* +4

VX —2x+5 ++/24x—23 =

http://toanphothong.vn/showthread.php?t=2709

http://toanphothong.vn/showthread.php?t=2738

VI+x*+xt +x=vVx-x’

3 —x2+3+Vx* +3x°+3 =0

http://toanphothong.vn/showthread.php?t=2737

http://toanphothong.vn/showthread.php?t=2734

Jox+1=16x" -2

X +x+1=(x+1V9-x’

http://toanphothong.vn/showthread.php?t=2579

http://toanphothong.vn/showthread.php?t=2701

x> =2 1+x°
\/8—x2+1/ o =5-
X X

x_3 x*V12x* =27

3P +3x 44— T2 o
18

http://toanphothong.vn/showthread.php?t=1471

http://toanphothong.vn/showthread.php?t=3014

1 1

X 42-x’

=2

2Wx—1++5x-1=x*+1

http://toanphothong.vn/showthread.php?t=3012

http://toanphothong.vn/showthread.php?t=2944

\/36)(2 —63x+27 =15-27x+2v/9x* - 9x +3

2X+14+xVx* +2 +(x+DVx* +2x+3 =0

http://toanphothong.vn/showthread.php?t=2923

http://toanphothong.vn/showthread.php?t=2920

Jx 20 —x +9 =x° =7

x> =2x—-5=+8+x°

http://toanphothong.vn/showthread.php?t=2917

http://toanphothong.vn/showthread.php?t=2918

(x> —6x+1D)Vx* —x+1 =2(x* —4x+ 7T)\x -2

3+dxVl-x> +—— =0

1-x° B

http://toanphothong.vn/showthread.php?t=3109

http://toanphothong.vn/showthread.php?t=3137

Y24+ x +\/12—X=(X—3)(X+24)(X+88)+6

I +8-x*=x-Ix* +4

http://toanphothong.vn/showthread.php?t=3122

http://toanphothong.vn/showthread.php?t=3117

2x+X_1=1/1—1+3 x-1
X X X

J1-x2 =(§—«/§)2

http://toanphothong.vn/showthread.php?t=3051

http://toanphothong.vn/showthread.php?t=3079
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Y24x —11-16xy/2x-1-1=0

TxVx+2 =12x++22-3x

http://toanphothong.vn/showthread.php?t=3082

http://toanphothong.vn/showthread.php?t=3064

Sxr1+V10—2x+—> =5

J3x

\/;+3/X+7=§‘/X+80

http://toanphothong.vn/showthread.php?t=3057

http://toanphothong.vn/showthread.php?t=3056

Y71x—8 +5Vx—1+2=x2x-1

J5x? +14x+9 —x* —x =20 = 5vx +1

http://toanphothong.vn/showthread.php?t=3038

http://toanphothong.vn/showthread.php?t=3050

Vx+2 +\/5x2+11x+7=x2+§x+%

JY3x—5=8x>-36x>+53x +25

http://toanphothong.vn/showthread.php?t=3044 | http://toanphothong.vn/showthread.php?t=3039
X, *V12x* =27 J12x =8 +/8x + 28 =/2x* + 22x + 40
7—3X +3X—4+T=0

http://toanphothong.vn/showthread.php?t=3036

http://toanphothong.vn/showthread.php?t=3033

VX 42 +/5% + 6 +28x + 9 = 4x>

16x* +5=634x% +x

http://toanphothong.vn/showthread.php?t=3031

http://toanphothong.vn/showthread.php?t=3334

J5x+6 +8x+9 =Vx+2 +/5x> +11x+7

2(2(x+2) +242-x)=/9x* + 16

http://toanphothong.vn/showthread.php?t=3301

http://toanphothong.vn/showthread.php?t=3216

(x-2Wx—-1-2x+2=0

Vx* + 3x? +vV—x =x? - 2x

http://toanphothong.vn/showthread.php?t=3174

http://toanphothong.vn/showthread.php?t=3171

Vx2 —x—6 +3x = 2(x* + 5x - 3)

15V +x = x> +14Ux* +x* +1

http://toanphothong.vn/showthread.php?t=3713

http://toanphothong.vn/showthread.php?t=3632

J5x% +14x+9 — x> —x—20 = 5x + 1

VX2 +54+5=3x+Vx*+15

http://toanphothong.vn/showthread.php?t=3627

http://toanphothong.vn/showthread.php?t=3619

3-x+3Y4-x=V3+x+1+3+x

V3x+1=—4x*+13x-5

http://toanphothong.vn/showthread.php?t=3326

http://toanphothong.vn/showthread.php?t=3380

3
X’ —2x =2\/E
x> —1-+x*-1

(25 -3x)Vx*-1=3x

http://toanphothong.vn/showthread.php?t=3916

http://toanphothong.vn/showthread.php?t=3888

7x? —13x + 8 = 2x*3/x(1 + 3x - 3x%)

http://toanphothong.vn/showthread.php?t=3841

http://toanphothong.vn/showthread.php?t=3559

3R3x+4=x>+3x>+x-2

64x° —44x —8 =3/48x + 8.

http://toanphothong.vn/showthread.php?t=3797

http://toanphothong.vn/showthread.php?t=3633

(\/XZ_-I-I—X)S +(M+x)5 —123

VX4+1+4V2=-x+2=x*+2x

http://toanphothong.vn/showthread.php?t=3770

http://toanphothong.vn/showthread.php?t=3750

@x-DVx* +1=2x"+2x+1

3/x+5 +3/x+6=3/2x+21
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http://toanphothong.vn/showthread.php?t=3707

http://toanphothong.vn/showthread.php?t=4199

X+ 9x2 + 13X + 8 = (5x + VX +3x° + 3x + 4

x' =3 +4x2 +16=123Y3x* -4

http://toanphothong.vn/showthread.php?t=4188

http://toanphothong.vn/showthread.php?t=4173

\/x—7 \/x—6 \/X—S \/X—S \/x—9 \/X—IO
+ + = + +
8 9 10 7 6 5

4+2VUx+2=xva V2x+3-2¥x-2=1

http://toanphothong.vn/showthread.php?t=4133

http://toanphothong.vn/showthread.php?t=4092

V22-3x+4V2+x=x"+8

http://toanphothong.vn/showthread.php?t=3949

http://toanphothong.vn/showthread.php?t=3992

5Vx+1+5V3x—8 =dx+3

2x* +10x> —17x + 8 = 2x*Y5x - x°

http://toanphothong.vn/showthread.php?t=3973

http://toanphothong.vn/showthread.php?t=3951

6x> —10x+5-(4x-1V6x* —6x+5=0.

J2x* —8 +416—x* =x*—6

http://toanphothong.vn/showthread.php?t=4422

http://toanphothong.vn/showthread.php?t=4393

\/\/§+X=X\/\/§—X

10x* +3x - 2(3x+)V2x* -1-6=10

http://toanphothong.vn/showthread.php?t=4360

http://toanphothong.vn/showthread.php?t=4309

x—3

x—-1*+2(x+1)
x+1

=12

\/3—X+1=4X2+\/X+1

http://toanphothong.vn/showthread.php?t=4214

http://toanphothong.vn/showthread.php?t=4128

(3x+ 1)V2x* -1 = 5%* +%X—3

x°=3x+1=+8-3x>

http://toanphothong.vn/showthread.php?t=4200

http://toanphothong.vn/showthread.php?t=4592

X=\/1—X\/2—X +\/2—X\/3—X +\/3—X\/1—X

4Vd-x* +12x\/4—x* =5x* +6x+8

http://toanphothong.vn/showthread.php?t=4537

http://toanphothong.vn/showthread.php?t=4487

3x*+2x+3=3x+1Vx* +3

1 1 3x

- = 4
X+"X2—1 4x 2X2+2

http://toanphothong.vn/showthread.php?t=4460

http://toanphothong.vn/showthread.php?t=3058

45— 2x +/6x +13 = 4x* —12x

V1-2x +4/4=3x =v/x? +dx +42x* —2x+9

http://toanphothong.vn/showthread.php?t=4106

http://toanphothong.vn/showthread.php?t=4852

%+9\/x—1 =5Jx +2ax -1
X

(6x-5)Vx+1-(6x+2)Vx—1+4Vx*~1=4dx-3

http://toanphothong.vn/showthread.php?t=4869

http://toanphothong.vn/showthread.php?t=4843

N 5x* —10x+1
x-2=" - -

x> —6x+11

12X2—6X+1+ 1 _\/4X—1+ 1
4x -1 4x* 2x Jax -1

http://toanphothong.vn/showthread.php?t=4804

http://toanphothong.vn/showthread.php?t=4784

2x% —142xV1-x* =V/1-x=0

2(2x-3)(Fx-1+Vx-1)=3x-2

http://toanphothong.vn/showthread.php?t=4737

http://toanphothong.vn/showthread.php?t=4716

Xx—2vx—1—-(x—DVx +Vx* —x =0
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/x2+5x+6
——=1-x
x> —2x

http://toanphothong.vn/showthread.php?t=4691

http://toanphothong.vn/showthread.php?t=5151

VX+1+x+3=+1-x+3V1-x°.

7x? —10x + 14 = 5Vx* + 4.

http://toanphothong.vn/showthread.php?t=5132

http://toanphothong.vn/showthread.php?t=5099

2(x*-3x+2)=3Yx>+8

2x2 —6x—-1=+4x+5

http://toanphothong.vn/showthread.php?t=530

http://toanphothong.vn/showthread.php?t=5102

729x* +8V1-x* =36

\3/81x—8=x3—2x2+§x—2

http://toanphothong.vn/showthread.php?t=5100

http://toanphothong.vn/showthread.php?t=4970

(x+2)(\/x2 +dx+7 +1)+x(\/x2 +3 +1)=0.

3x* —8x+3-3Vx+1=0.

http://toanphothong.vn/showthread.php?t=4998

http://toanphothong.vn/showthread.php?t=4956

J5x® +14x+9 — x> —x—20 = 5Vx + 1

X' +2x-3-2x-1Vx*-x+3=0.

http://toanphothong.vn/showthread.php?t=4971

http://toanphothong.vn/showthread.php?t=4883

x3—xz+3—\/1—x—\/5x+4=0.

SVxP—1+5Vx—1+vVx+1=3x-1

http://toanphothong.vn/showthread.php?t=5313

http://toanphothong.vn/showthread.php?t=5315

V5x2 +14x+9 — x> —x =20 = 5v/x + 1

4x* — 4x + 2012 = /8x* — 6x + 2012

http://toanphothong.vn/showthread.php?t=5281

http://toanphothong.vn/showthread.php?t=5240

33x-x>—1Vx' —2x=x" —4x" +4x -1

(6x* —x—2)V3x* —4x+1=(10x> - 11x + 4)Vx* +x -1

http://toanphothong.vn/showthread.php?t=5200

http://toanphothong.vn/showthread.php?t=5210

2(W2x* +1-1)=x(1+3x+8V2x* +1)

x> —1=2xvx?-2x

http://toanphothong.vn/showthread.php?t=5133

http://toanphothong.vn/showthread.php?t=5141

2x° +10x* —17x + 8 = 2x*3/5x - x°

x* =1 =+/x(=3x* + 5x - 3)

http://toanphothong.vn/showthread.php?t=5517

http://toanphothong.vn/showthread.php?t=4777

Jx2—2x—1+3x° —14 =x 2

2- X+2 =vVx+7.

x—3

http://toanphothong.vn/showthread.php?t=5495

http://toanphothong.vn/showthread.php?t=5494

2(x* +x-1) +2x* +2x =3 +/5+4x

3IXP+V3x+1=2(7x+4)+V6—x

http://toanphothong.vn/showthread.php?t=5434

http://toanphothong.vn/showthread.php?t=5477

J2=2)x +V2x—4 =22

V5% +4x + 5x = x* = 3x* — 18

http://toanphothong.vn/showthread.php?t=5342

http://toanphothong.vn/showthread.php?t=5449

2++x s
————=Vx+v1l-Xx
3+V1-x

Ux+¥x+1=242x+1

http://toanphothong.vn/showthread.php?t=5466

http://toanphothong.vn/showthread.php?t=5284

(AVx+2 +4/22-3x)=x? +8.

5x” 4+28x+24=3x" +4x+8)V2x +1
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http://toanphothong.vn/showthread.php?t=5409

http://toanphothong.vn/showthread.php?t=5216

(4x+2)Vx+1=(4x-2)Vx—-1+9

X\/X+1=\/2X+5+X+3

http://toanphothong.vn/showthread.php?t=5659

http://toanphothong.vn/showthread.php?t=5688

16x* —24x”* +8v3-4x-3=0

J5x? +14x+9 — x> —x—20 = 5Vx + 1

http://toanphothong.vn/showthread.php?t=5630

http://toanphothong.vn/showthread.php?t=5571

EX+DVX+2+xX+6)Vx+7 =(x+3)(x+4).

XX +(2x+3W3x* +6x+2 =6x+5

http://toanphothong.vn/showthread.php?t=5528

(3x+1)V2x* -1 =5x* +7—3

http://toanphothong.vn/showthread.php?t=5530

Y3x*—3x+3 = =
4 2

http://toanphothong.vn/showthread.php?t=5531

http://toanphothong.vn/showthread.php?t=5510

2x* —2011x + 2011 = x*Vx + 3

2x—6)Vx+4 - (x—5)V2x+3=3(x-1)

http://toanphothong.vn/showthread.php?t=5128

http://toanphothong.vn/showthread.php?t=5709

2
Y7x -8 + T2

=X

TN3IX—=T+(4x-TIWT-x=32

http://toanphothong.vn/showthread.php?t=5731

http://toanphothong.vn/showthread.php?t=5721

x+2)(x*—Vx* +x42)=x+1

—2\/5x—x2+\/5- =1

http://toanphothong.vn/showthread.php?t=5730

http://toanphothong.vn/showthread.php?t=5724

(9x —2)V3x-1+(10-9x)v3-3x —4\/—9)(2 +12x -3 =

1+\/1+8x2—6§ 1-x* =10x>.

http://toanphothong.vn/showthread.php?t=5719

http://toanphothong.vn/showthread.php?t=5711

8x? —8x+3=8xv2x*-3x+1

\/E—E—i/xs—3xz+§=l
2 21 7

http://toanphothong.vn/showthread.php?t=5592

http://toanphothong.vn/showthread.php?t=5875

V3xE—Tx+3 —Vx* =2 =+/3x* = 5x =1 —Vx* = 3x + 4

22x+4 + 42 —x =/9x* +16

http://toanphothong.vn/showthread.php?t=5819

http://toanphothong.vn/showthread.php?t=5841

Bx+1V2x* -1 =5x" —%x+3

J6x* — 40x + 150 — \/4x? — 60x + 100 = 2x — 10.

http://toanphothong.vn/showthread.php?t=5837

http://toanphothong.vn/showthread.php?t=5828

1+2xvV1-x?

2

=1-2x>

T+x-1=3x+2V1-x +41-%>

http://toanphothong.vn/showthread.php?t=6132

http://toanphothong.vn/showthread.php?t=6089

X +1=232x-1

(x—1)3+2(x+1),/"—_3=12
x+1

http://toanphothong.vn/showthread.php?t=6080

http://toanphothong.vn/showthread.php?t=6073

1/%—X\/1—X2 =1-2x"

X+4+Vx—4=2x-12+4Jx*-16
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http://toanphothong.vn/showthread.php?t=6060

http://toanphothong.vn/showthread.php?t=6036

V1i+41-x* =x(14+2V1-x%)

3x+1+2V1—-x —41+x +41—-x* =0.

http://toanphothong.vn/showthread.php?t=6334

http://toanphothong.vn/showthread.php?t=6318

X+2\/7—X=2\/X—1+\/—X2+8X—7+1

13(%—1}/;(%4 +9 iz—l—\/xz+4 =0
X

X

http://toanphothong.vn/showthread.php?t=6307

http://toanphothong.vn/showthread.php?t=6266

6(x—1) x+1+(x2+2)( x—l—3)=x(x2+2) (THT/

, [ 3.9
X+, X+ ===
2 4

http://toanphothong.vn/showthread.php?t=5855

http://toanphothong.vn/showthread.php?t=6181

X+2 1 1
X+\/3X4—11X2+9 x*-1 x'-3

(x+2)Vx+1—-(4x+5)V2x+3 =—6x—23.

http://toanphothong.vn/showthread.php?t=6239

http://toanphothong.vn/showthread.php?t=6246

(X—I)Z—X+1 /x—3 _4
x—-3\Vx+1

(2x+1)2—2x+2,/x_4=9
x—4\x+2

http://toanphothong.vn/showthread.php?t=6238

http://toanphothong.vn/showthread.php?t=6206

x-3\Vx+1

XX —(x+2)Vx—-1=x-2

http://toanphothong.vn/showthread.php ?t=6057

http://toanphothong.vn/showthread.php?t=6133

(Ax+ DVx+2 —(4x - Dyx -2 = 21. 3o X +2x+3
3x+1
http://toanphothong.vn/showthread.php?t=6188 | http://toanphothong.vn/showthread.php?t=6477
3 —
X3 _xoaxes-t x+17 - 201-x), 223 212
3 4 2 x+1

http://toanphothong.vn/showthread.php?t=6208

http://toanphothong.vn/showthread.php?t=6482

2(x-2)(Yax—4+V2x-2)=3x-1

42x +4)+16+/2(4—x*) +16(2 —x) =9x” + 16

http://toanphothong.vn/showthread.php?t=5992

http://toanphothong.vn/showthread.php?t=6442

Bx—-52x* -3 =4x"-6x+1.

X+DV2x-1(x+4)+2x’ =3x" —x-2

http://toanphothong.vn/showthread.php?t=6269

http://toanphothong.vn/showthread.php?t=6098

x—1+3z—x3 =4x* —4x -1

4

Vx—yx—Jx—x5 =5

http://toanphothong.vn/showthread.php?t=6319

http://toanphothong.vn/showthread.php?t=6344

\/;+3/X+7=‘\‘/X+80

X +3x°+4x+2=3x+2)\/3x+1

http://toanphothong.vn/showthread.php?t=6333

http://toanphothong.vn/showthread.php?t=6676

X—1+\/X+1+\/2—X=X2+\/E

Vx* 420 +7=Vx*+9 +x°

http://toanphothong.vn/showthread.php?t=6688

http://toanphothong.vn/showthread.php?t=6660

I +8+3V12-x* =10

Vx*+3x* -4 +3x=3x"+16
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http://toanphothong.vn/showthread.php?t=6662

http://toanphothong.vn/showthread.php?t=6059

\/l+ﬁ|:\/(l+x)3 —\/(l—x)3]=2+ﬁ

V2x—3 +Vx+1=3x+2vx* +5x+3 16

http://toanphothong.vn/showthread.php?t=6619

http://toanphothong.vn/showthread.php?t=6471

2Jax? —x+10 + 2x = 332x* — x* +/9x% —dx + 4

Y1625 +2 +27x* - 9x +1 =1

http://toanphothong.vn/showthread.php?t=6622

http://toanphothong.vn/showthread.php?t=6596

23x+1DV2x> -1-10x> -3x+6=0

Yx+80+Yx =4

http://toanphothong.vn/showthread.php?t=6576

http://toanphothong.vn/showthread.php?t=6128

2V1-x —V1+x+3V1-x* =3-x

3 +11x—1=13v2x" +2x* +x -1

http://toanphothong.vn/showthread.php?t=6521

http://toanphothong.vn/showthread.php?t=6859

x’—x+1 _2(X2—4X+7)
| x-2 x’ —6x+11

2\/x2—9=(x+5),/x+§
X—

http://toanphothong.vn/showthread.php?t=6828

http://toanphothong.vn/showthread.php?t=6661

1-x* =4x* -3x

http://toanphothong.vn/showthread.php?t=6799

http://toanphothong.vn/showthread.php?t=6803

x2—3x>+3x-333x-1=3

X +9x*-x-1)=0

http://toanphothong.vn/showthread.php ?t=6769

http://toanphothong.vn/showthread.php?t=6758

2(x*+2)=5Vx’+1 (xeR).

(5x+ DV2x+1 = (Tx+3)Wx =1

http://toanphothong.vn/showthread.php?t=7073

http://toanphothong.vn/showthread.php?t=7010

2(x—x)* —4(x —/x) + 4= Ik 3x -1
(x+IWVx +1

4x* —6x+1= —§\/16x4 +4x* +1

http://toanphothong.vn/showthread.php?t=7004

http://toanphothong.vn/showthread.php?t=6949

2(x4+4)=3x2—10x+6

\/— 3x’+7x+8
x+8§=""""79

4x +2

http://toanphothong.vn/showthread.php?t=6948

http://toanphothong.vn/showthread.php?t=6966

J17-x* —Y2xb —1=1

J5x? +14x+9 —x* —x =20 = 5vx + 1

http://toanphothong.vn/showthread.php ?t=6959

http://toanphothong.vn/showthread.php?t=5127

\/x2+x—1+\/x—xz+1=x2—x+2.

X(2x +7) —4V/2x* + 9x + 10 +10=(3X+2)(2 X+2 -

http://toanphothong.vn/showthread.php?t=6918

http://toanphothong.vn/showthread.php?t=7203

xX+3)Vx+3+34/x+3=8x>+12x*+3x-9

2Vax® —x+1—+/9x% —dx + 4 = 3¥2x* - x* — 2x

http://toanphothong.vn/showthread.php?t=2295

http://toanphothong.vn/showthread.php?t=7118

TN3IX—=T7+Ax-TNT—-x =32

4x —1)V3-2x+(7-4x)V2x -1 =2v/-4x* +8x — 3 4
(4x-1)~ (7-4x)V

http://toanphothong.vn/showthread.php?t=7158

http://toanphothong.vn/showthread.php?t=7069
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6(x—DVx+1+ (x> +2)(Vx—-1-3)=x(x*+2)

(x-DVx +1=33x-2

http://toanphothong.vn/showthread.php?t=7117

http://toanphothong.vn/showthread.php?t=7099

2\/X2—x+1—\/xl+x+1+3\/x4+x2+1=3xl—x+3

3 +11x—1=13v2x" +2x* +x -1

http://toanphothong.vn/showthread.php?t=7095

http://toanphothong.vn/showthread.php?t=7457

V3x+1=—4x*+13x-5

\/X+8—2\/X+7 +Vx+1-Vx+7=4

http://toanphothong.vn/showthread.php?t=7450

http://toanphothong.vn/showthread.php?t=7450

Jx+1+x+3=V1-x+3V1-x%.

4 +x-(x+1)V2x+1=0

http://toanphothong.vn/showthread.php?t=7414

http://toanphothong.vn/showthread.php?t=7381

VX+1+x+3=+v1-x+3V1-x°.

\/X+X+2\/X+1 —-VJx+1=4

http://toanphothong.vn/showthread.php?t=7360

http://toanphothong.vn/showthread.php?t=7353

X5 +4x+6=(x"+2x+3)Vx* +x+4

VX +1+6v9—x* +6y(x+1)(9—x?) = 38+ 10x — 2x* -

http://toanphothong.vn/showthread.php?t=7348

http://toanphothong.vn/showthread.php ?t=648

VX2 +9—Vx? =7 =24/5x -1 -3x -2 —/x -1

VX2 +3x—1+xv10-3x =x+1

http://toanphothong.vn/showthread.php?t=7258

http://toanphothong.vn/showthread.php?t=7673

1 1 -1
EEEE
X X X

2 +2x3V1=x2 —1+x=1=0

http://toanphothong.vn/showthread.php?t=7657

http://toanphothong.vn/showthread.php?t=7605

(X—Z)\/;+\/X3—8X\/;+4X=4 x’ -2x—4

(x> +6x—11)Vx -2 =5x" —20x* + 21x -2

http://toanphothong.vn/showthread.php?t=7575

http://toanphothong.vn/showthread.php?t=7588

9(Wax+1—+/3x—2)=x+3.

4 3 1
Jax+1+5 4++/3x-2 9

http://toanphothong.vn/showthread.php?t=7463

http://toanphothong.vn/showthread.php?t=7539

2x+X_1—\/1—1—3\/x—1=0
X X X

4 f 1 / 5
—+,[X——=X+,/2x——
X X X

http://toanphothong.vn/showthread.php?t=7505

http://toanphothong.vn/showthread.php?t=7521

X\/X2+1—2\/3X2+3+2X=0

3x+3_4+ x+1
Jx Vxr—=x+1

http://toanphothong.vn/showthread.php?t=7507

http://toanphothong.vn/showthread.php?t=7492

2x% =2xVx*+1-3=0

\/1—2X +\/1+2x=\/i_2X +\/1+2X

+2x 1-2x

http://toanphothong.vn/showthread.php?t=7383

http://toanphothong.vn/showthread.php?t=7855

I +3x42 - 2Jx2 +6x+2 =—2

X oA2xt—1+xV1—-x> =0

http://toanphothong.vn/showthread.php?t=7841

http://toanphothong.vn/showthread.php?t=7822

3x° — 6x2 — 3x — 17 = 339(=3x> + 21x + 5)
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( 1 +1J 1—x—(l+1J 1 +x-1=0
(1-x)* \ x x’ V1-x

http://toanphothong.vn/showthread.php?t=7817

http://toanphothong.vn/showthread.php?t=7803

—10x® —5x +12(x* + 1) - 11 =2x*3/7x* = 7(x* + 1) + 2x 4

2x* +2x% = (x+1)° E+i
2 2x

http://toanphothong.vn/showthread.php?t=7776

http://toanphothong.vn/showthread.php?t=7773

x> —4x—3=+x+5 V420 +7=xX +Vx*+9
http://toanphothong.vn/showthread.php?t=7753 | http://toanphothong.vn/showthread.php?t=7444
2x+1 Vx2+1-x"+x*=2x*+1=0

x'+x*=3x+1)

http://toanphothong.vn/showthread.php?t=7675

http://toanphothong.vn/showthread.php?t=7626

\/1 1 \/2x
—+—+ =2
2 2x x+3

\/12—E+\/x2 +E =x’ +§
x* x2 12

http://toanphothong.vn/showthread.php?t=7508

http://toanphothong.vn/showthread.php?t=8056

xX*-DVx*+1=x"+x

—x*+2x+1+V2x* +2x =0

http://toanphothong.vn/showthread.php?t=7919

http://toanphothong.vn/showthread.php?t=8051

1/1—x—2\/1— =(1-x)
X

X’ —4x +1=4x\1-x

http://toanphothong.vn/showthread.php?t=2222

http://toanphothong.vn/showthread.php?t=8045

3—
U3x* - 3x + =,/4X 21
12 2

3
N 3X2—3X+3—1/X——§=1
3 4 2

http://toanphothong.vn/showthread.php?t=8027

http://toanphothong.vn/showthread.php?t=8000

x*=3x2+40=8x+8Y4x +4

x> +2x? —9x+3=(3x* -3x-5)Vx—-1

http://toanphothong.vn/showthread.php?t=7999

http://toanphothong.vn/showthread.php?t=7980

(x+Vx—-1)(x+2Vx—-1+1)=2v2x-1

6x—4

Vx' +4

\/2x+4—2\/2—x=

http://toanphothong.vn/showthread.php?t=7979

http://toanphothong.vn/showthread.php?t=7979

V2x+4-2v2—x = 6x-4 Vx*+7 =4x—-10++x* -5
Vx® +4
http://toanphothong.vn/showthread.php?t=7970 | http://toanphothong.vn/showthread.php?t=7961
—_ —_ — 2 —_
3 - dx 92 __5 xeR). Vx-1++v11-x =x* - 12x + 24
-X

http://toanphothong.vn/showthread.php?t=7897

http://toanphothong.vn/showthread.php?t=7880

VX+1+2(x+1D)=(x-DV1-x+3V1-Xx’

(\/x+2+\/x+3)(\/2x—1—3)=4

http://toanphothong.vn/showthread.php?t=7856

http://toanphothong.vn/showthread.php?t=8171

3-3x? =4x° - 2x

x—1
2
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http://toanphothong.vn/showthread.php?t=8132

http://toanphothong.vn/showthread.php?t=8153

1+x° _z
x>+2 5

xx-D(Vx' +1-1) =4

http://toanphothong.vn/showthread.php?t=8112

http://toanphothong.vn/showthread.php?t=8118

Vx* —4x* +8(2x -8 -2x*)=6x"> -8

V14 - 3x" = 4x> - 21x + 32

http://toanphothong.vn/showthread.php?t=8131

http://toanphothong.vn/showthread.php?t=8130

J5x® +14x+9 — x> —x—20 = 5vx + 1

19 +10x* — 14x* = (5x” — 38)Vx* -2

http://toanphothong.vn/showthread.php?t=8113

http://toanphothong.vn/showthread.php?t=8116

x° —x\8-2x* =4x* -8

225 +4 + 42 —x =/9x* +16

http://toanphothong.vn/showthread.php?t=8114

http://toanphothong.vn/showthread.php?t=8111

2x—1DVx—1+3Yx+6=x+6

49x + 211 = 20(x+3)\/x+7

http://toanphothong.vn/showthread.php?t=8104

http://toanphothong.vn/showthread.php?t=8079

y =5y+6-y*\/5-y* =0

5x(2x+1)\/m=3(4x+\/5—4x2)

http://toanphothong.vn/showthread.php?t=8046

http://toanphothong.vn/showthread.php?t=8071

3V2x -1+ xv5—4x* = 4x°

x>+ Va4 —-x* —2x* =2(x* +2x* - 3x+1)

http://toanphothong.vn/showthread.php?t=8331

http://toanphothong.vn/showthread.php?t=8273

2
2 X

x* + =
(x+1)?

x+2

; —1=3(x-3)* +39x-3)

http://toanphothong.vn/showthread.php?t=8270

http://toanphothong.vn/showthread.php?t=8264

V2x2 +10x+12 —x? +2x =3 = 24x + 2

(=10x> + 3x +10) = (x3/28 — x*)

http://toanphothong.vn/showthread.php?t=8239

http://toanphothong.vn/showthread.php?t=7143

(x-7-2x)(x=7-x*) =12 x*—3x=vx+2
http://toanphothong.vn/showthread.php?t=8181 | http://toanphothong.vn/showthread.php?t=8150
x* —4x? =28 = 3x* —4x —12 X' =3x=vVx+2

http://toanphothong.vn/showthread.php?t=8218

http://toanphothong.vn/showthread.php?t=8212

x> —8x+12 =x+/28 — 3x

Vx=-2+/4-x=2x*-5x-1

http://toanphothong.vn/showthread.php?t=8207

http://toanphothong.vn/showthread.php?t=8205

X+1+42xV2x =1 =2x x> + 2

2(x — 4’ ;
— +6=3J(x-4)"+
6 x X X

http://toanphothong.vn/showthread.php?t=8204

http://toanphothong.vn/showthread.php?t=8127

J2x* —8 +416—x* =x*—6

10x’ —6x —4 = (7x* —1V2x* -2

http://toanphothong.vn/showthread.php?t=8180

http://toanphothong.vn/showthread.php?t=8156

xVx —Vx = (1= 2x)V1+x

2x° = 2x = (1-2x*)V/3 - 3x>

http://toanphothong.vn/showthread.php?t=8466

http://toanphothong.vn/showthread.php?t=8435

729x* +8V1—x* =36.

Ax+3)V2x+1-(4x-3)/2x-1=0

http://toanphothong.vn/showthread.php?t=8455

http://toanphothong.vn/showthread.php?t=8418
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2x° +10x2 —-17x + 8 = 2x%3/5x - x°

(X+3)VE+D(x+2) +(x+Dy(x+2)(x+3) +(x+ 2)\/

http://toanphothong.vn/showthread.php?t=8405

http://toanphothong.vn/showthread.php?t=8401

Ax-1DVx* +1=2x"+2x+1.

\3/81x—8=x3—2x2+§x—2

http://toanphothong.vn/showthread.php?t=8386

http://toanphothong.vn/showthread.php?t=8383

2 +x— 31431 + 32x 1=
X—

(xe R).

Vx*+4x -2 =/8-%’

http://toanphothong.vn/showthread.php?t=8381

http://toanphothong.vn/showthread.php?t=8375

Jx 1+ x-2x2 =x+V1-x7

X —v9—-2x* =9 —x*

http://toanphothong.vn/showthread.php?t=8366

http://toanphothong.vn/showthread.php?t=8357

X —2x31-x>-1=0

2x% =2 =xv1+2x*

http://toanphothong.vn/showthread.php?t=8347

http://toanphothong.vn/showthread.php?t=8344

x> =2x—xV2+x—-4=0

2x* +5x+5=3(x+1)Vx +4

http://toanphothong.vn/showthread.php?t=6926

http://toanphothong.vn/showthread.php?t=7631

(x-2) X—+i+(x+1)(x—2)=6

8x’ —8x+1=4(x—-1V1+x

http://toanphothong.vn/showthread.php?t=8700

http://toanphothong.vn/showthread.php?t=8680

J5x® +14x+9 — x> —x—20 = 5Vx + 1

(x-1? =(x+2)Vx -3 (xeR).

http://toanphothong.vn/showthread.php?t=8637

http://toanphothong.vn/showthread.php?t=8613

(x—1)(2\/x—1+3%/x+6)=x+6 (xe R).

I+ x+1+Vx —x+1=2

http://toanphothong.vn/showthread.php?t=8610

http://toanphothong.vn/showthread.php?t=8572

(26 —x)V5x—1—-(13x+14)V5-2x +12{/(5x - 1)(5 - 2

2xYx+1+x° =3x+1+1=0

http://toanphothong.vn/showthread.php?t=8589

http://toanphothong.vn/showthread.php?t=8592

1 3 1
I -1 3x-3

x'—9x? +12x -4 =

2x° +10x* —17x + 8 = 2x*3/5x - x°

http://toanphothong.vn/showthread.php?t=8534

http://toanphothong.vn/showthread.php?t=8419

B-x1-x* =(x+DV3x* -3x +(2x+3)V1—x

X' —3x -5x+3+(x*-3)Vx+1=0

http://toanphothong.vn/showthread.php?t=8499

http://toanphothong.vn/showthread.php?t=8523

Yax +1-2x =1

(x*+1)* =5-xv3+2x

http://toanphothong.vn/showthread.php?t=2615

http://toanphothong.vn/showthread.php?t=8822

51Wx -2 =3x* —58x + 110

m_x3+2xz—3x+l

x> +2

http://toanphothong.vn/showthread.php?t=8817

http://toanphothong.vn/showthread.php?t=8808

Ax—-1D(Wx+3+33x+5)=4x+8

3W2x +1-1)=x(1+3x++/2x* +1)

http://toanphothong.vn/showthread.php?t=8562

http://toanphothong.vn/showthread.php?t=8778
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(2x +3)(x +1—+1-x) = 432x* - 3x

J14-x* +x=2(1+Vx> -2x-1)

http://toanphothong.vn/showthread.php?t=8792

http://toanphothong.vn/showthread.php?t=8792

Vx+13 -Vx+6 =Yx -2

2=3(x-133x-3Vx* -1

http://toanphothong.vn/showthread.php?t=8773

http://toanphothong.vn/showthread.php?t=8779

Wx+3+Vx)W1-x-1)=-3

V2x2 +20x +18 —v2x* + 2x =4

http://toanphothong.vn/showthread.php?t=8774

http://toanphothong.vn/showthread.php?t=8768

3/x+2—\/x—1=3/2x+1

Y2-x+2J6-x=4

http://toanphothong.vn/showthread.php?t=8766

http://toanphothong.vn/showthread.php?t=8710

Jax® —4x? —6x+10 =1-x"x(x+1)(x - 2)

(x> =6x+11D)Vx> +1 =2(x> —4x+ T)Vx -2

http://toanphothong.vn/showthread.php?t=9065

\/x—1+\/1—1=x
X X

http://toanphothong.vn/showthread.php?t=9041

http://toanphothong.vn/showthread.php?t=9025

X' —x—-3+2x+5=0

x*+1)’=5-xv2x’ +4

http://toanphothong.vn/showthread.php?t=8983

http://toanphothong.vn/showthread.php?t=8898

VX' +x* +1+x=4/x(1-x?%)

J@=x*) + A +4x) +/(x* +y* -2y - 3) =/(x* - 16)

http://toanphothong.vn/showthread.php?t=8938

http://toanphothong.vn/showthread.php?t=8941

2x° —x? —x+(2-2x-x*)Wx-1=0

X +6x°-2x+3=05x-1Vx*+3

http://toanphothong.vn/showthread.php?t=8940

http://toanphothong.vn/showthread.php?t=8939

x°=3x+1=+8-3x"

xVx+1+Vx—1=1+Vx* -1 +xx -1

http://toanphothong.vn/showthread.php?t=8183

http://toanphothong.vn/showthread.php?t=8863

10x* +3x+1=(1+6x)Vx* +3

%/x2—2=\/2—x3

http://toanphothong.vn/showthread.php?t=8861

http://toanphothong.vn/showthread.php?t=8860

\/;+3/X+7=‘\‘/X+80

VI=x=2xyJ1-x*=2x* -1

http://toanphothong.vn/showthread.php?t=8862

http://toanphothong.vn/showthread.php?t=9215

I —1+Y2-x =1 2\/X—1+\/5X—1=_2X2+;3X_13
http://toanphothong.vn/showthread.php?t=9230 | http://toanphothong.vn/showthread.php?t=9199

x2—3x—4\/;—2=(x+4\/;—1)\/1+\/;.

L + 1 =1
X+\/X2+2 X+\/X2—2

http://toanphothong.vn/showthread.php?t=9183

http://toanphothong.vn/showthread.php?t=9172

x=vVx+10 +Ix+2

8x’+(8x* -3x-6)\Wx+2=0

http://toanphothong.vn/showthread.php?t=9169

http://toanphothong.vn/showthread.php?t=9168

V2x+3+x+1=Vx* —11x+ 33 +/3x -5

5x* +4

VX —2x+5 ++/24x—23 =
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http://toanphothong.vn/showthread.php?t=9164

http://toanphothong.vn/showthread.php?t=3007

x’—V2-x+2Vx+3=4

Ax+2+422-3x=x*+8

http://toanphothong.vn/showthread.php?t=9091

http://toanphothong.vn/showthread.php?t=9332

Jax® +2x—1+V2x—4x* +1 = 4x> —2x + 2

(\/x—1+\/x—2—\/;)+8xxlx2—3x+2=7x2—6x—1

http://toanphothong.vn/showthread.php?t=9324

http://toanphothong.vn/showthread.php?t=9316

2x* +x+3W4-x" 12 _ x—2

2x Vad-x" +x-2

X2+3X+2+\/(2X+1)(x2+x+1) =(4x2—2x+1)(2x

+

http://toanphothong.vn/showthread.php?t=9320

http://toanphothong.vn/showthread.php?t=9315

3(12x* - 8x +1) =v3x —\/9x -3

4x+10 3x+10

+
3x+Vx2—12x+20 4x+Vx*=7x+10

=0

http://toanphothong.vn/showthread.php?t=9305

http://toanphothong.vn/showthread.php?t=9299

x> =3x+14=4Jx" -8

J14-x* +x=201+Vx>*-2x-1)

http://toanphothong.vn/showthread.php?t=9296

http://toanphothong.vn/showthread.php?t=9290

{/Z(X—l)(x2 +1) =x’ +x’ -2x

7x* —10x+ 14 =5Vx* + 4

http://toanphothong.vn/showthread.php?t=9198

http://toanphothong.vn/showthread.php?t=9288

\/XZ—X+1+3/;=X2+1

1 2

2
2x—1-2(x-1) VBx-1-x-1 9

http://toanphothong.vn/showthread.php?t=9287

http://toanphothong.vn/showthread.php?t=9214

3(-2x +8)vx+2 =8V2x + 5 +201x - 2 el 2;7+—42x=7
X
http://toanphothong.vn/showthread.php?t=9286 | http://toanphothong.vn/showthread.php?t=9451
2( [sx—1 +2)+5 k1= (‘2“31)\"“1 V3% -1 +4xE —x —xy/x* +1 =L\/_(7x2 -x+4)
9 22
http://toanphothong.vn/showthread.php?t=9078 | http://toanphothong.vn/showthread.php?t=9462
1 1 X +5x* +4x+2
5x—6)" - =x’— =x2 2
Y x—1 X +2x+3 xR

http://toanphothong.vn/showthread.php?t=9452

http://toanphothong.vn/showthread.php?t=9422

L(; 1 J_ 1
\/; 2 x*-2 \/9)(+2x2—3x3

%/6X3+5X2+2X+1+%/—5X3—5X2+X+1=X

http://toanphothong.vn/showthread.php?t=9416

http://toanphothong.vn/showthread.php?t=9393

I —x+1+V-x* +x+1
2x

=x2+1+\/(x2+1)2—x2(x‘

V2x2 +10x+12 —x? +2x =3 = 2x + 2

http://toanphothong.vn/showthread.php?t=9382

http://toanphothong.vn/showthread.php?t=9363

11 14

+
2x* 2 7+x3

=1

x+2)(V2x2 +4x+6 +V=2x—1)=2x> + 6x+7
(x+2)
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http://toanphothong.vn/showthread.php?t=9329

http://toanphothong.vn/showthread.php?t=9358

2(Vx=2+3)32(x+2)Vx-2+2(3x-2) = Tx -2+

V3-x +/15x -8 =2x—-1+4

http://toanphothong.vn/showthread.php?t=9359

http://toanphothong.vn/showthread.php?t=9355

X+8=4Vx—1+2V5-2x +4J7x - 2x* -5

3x+2V3—-x+Vdx—x* -3 =4Vx-1+5

http://toanphothong.vn/showthread.php?t=9335

http://toanphothong.vn/showthread.php?t=9576

X’ —2x _3\/g
xX—1-vx-1 2

x> +x+1 x° 1
,f—+—= —+2

http://toanphothong.vn/showthread.php?t=9577

http://toanphothong.vn/showthread.php?t=9575

#x2+3x+2(%/x+1—%/x+2)=1

11x-43  ddx+7
Ja-x  Jax+1

=17+4,/(4-x)(4x +1)

http://toanphothong.vn/showthread.php?t=9569

http://toanphothong.vn/showthread.php?t=9557

3x* —5x+6=2xVx* +x-3

x2=3x—-Y2-x*+3=0

http://toanphothong.vn/showthread.php?t=9561

http://toanphothong.vn/showthread.php?t=9317

(x+1)(x2 +1)

(1+<‘/ﬁ)(1+ﬁ)

-2+ =0

2

Vi+x+ 1-x=2->
4

http://toanphothong.vn/showthread.php?t=9467

4(Vx+1-3)x +(13Vx+1-8)x - 4x-1-3=0.

http://toanphothong.vn/showthread.php?t=9415

http://toanphothong.vn/showthread.php?t=9455

X3—y3—X2y+xy2—2xy—X+y=0
X—y=X —2X"+y+2

Y15-x—dy +x-2=/x? —2x> + 8y -3
A4y +3x° +4x =x+1

http://toanphothong.vn/showthread.php?t=9414

http://toanphothong.vn/showthread.php?t=9538

10x* + 5y —2xy —38x -6y + 41 =0
\/X3+xy+6y—\/y3+x2—1=2

x* 42y’ =x"y + 2xy
2Jx* —2y-1+3y’ ~14=x-2

http://toanphothong.vn/showthread.php?t=9423

http://toanphothong.vn/showthread.php?t=9629

x*+y* +3xy=1

2x+ 3y +25
J-x)(3-y) =50

{ Mx+2+22-3x=y*+8

(\/x2 +2012 + x).(\/y2 +2012 + y) = 2012

http://toanphothong.vn/showthread.php?t=9318

http://toanphothong.vn/showthread.php?t=9306

{2y3+y+2xx/1—x =3\/1—X

N2Y +1+y=4+x+4

x* +xy’ =y* +y*
V3x+6+2y° +7=6

http://toanphothong.vn/showthread.php?t=9284

http://toanphothong.vn/showthread.php?t=9297
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X+6xy—-y=6

3 3
fOHY) eyt =3

x> +y® +xy

{/ZXZ(X+1)+X—y=X2(X+5)—3X—y+2

y-2

v =2 =(x-1)(x+3)

http://toanphothong.vn/showthread.php?t=9454

http://toanphothong.vn/showthread.php?t=9453

J2x—y+2+x+2y-3=3
(x+y)(x—y+9)=25+xy

\/3y—x—\/2y+x=1

{2x\/2y+x =y’ —2xy+2(x—y)+1

http://toanphothong.vn/showthread.php?t=9456

http://toanphothong.vn/showthread.php?t=9428

oy 31

=4y 2x

(x2 —yz)5 =-5

2Vx +yvx+1 =4y
Vx+1(Jx +y?) = 2y(y% +Vx + 1)

http://toanphothong.vn/showthread.php?t=9238

http://toanphothong.vn/showthread.php?t=9220

x’y’ +2x’y-2x=6
X’y +xy+2x +3x=9

\/2x+y+5—\/3—x—y=x3—3x2—10y+6
x*—6x*+13x=y’ +y+10

http://toanphothong.vn/showthread.php?t=9279

http://toanphothong.vn/showthread.php?t=9277

2y’ —x*=1
2X3—y3=2y—X.

Vx+1—41-y= 1—l
X
Axy +4/x =y’ =x+y

X+y

http://toanphothong.vn/showthread.php?t=9021

http://toanphothong.vn/showthread.php?t=9028

2

y +2
X

y: —x =2x—-2

Jy+1+32x-1=1

{(x +y)3xy —4v/x) =2
(y +X)3xy +4/y) =2

http://toanphothong.vn/showthread.php?t=8074

{3—(1+y)2=xlx—y

Xx+8y=+4x-y-9

http://toanphothong.vn/showthread.php?t=8497

http://toanphothong.vn/showthread.php?t=8567

{ Vax +2y = 4

V2x+5+42y+2 =4

el o
X+y

4
o 1 2\/;+\/§_
\/;(Z—ﬁ)—l

http://toanphothong.vn/showthread.php?t=8531

http://toanphothong.vn/showthread.php?t=8614

1
X3+2X2—5X—4=—3
y
1 1
x2+—2—x+—=2
y y

(2x +3)Wdx —1+ 2y +3)/dy —1 =2,/(2x + 3)(2y + 3
X +y = 4xy
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http://toanphothong.vn/showthread.php?t=8200

http://toanphothong.vn/showthread.php?t=8442

3
(y+1)2+y\/y2+1=x+5
X+VX*=2x+5=1+22x -4y +2

V2x+1 -2y +14+4——=0

Y—X

x+y)(x+2y)+3x+2y=4

http://toanphothong.vn/showthread.php?t=8230

http://toanphothong.vn/showthread.php?t=8182

2x+\/2—x+y—x2—y2 =1
2x’ =2y’ +1

X'y’ —-8x+y> =0
2x" —4x+10+y’ =0

http://toanphothong.vn/showthread.php?t=5759

1
\V3X’y? +y? —6xy(x+y): =48y(x* +y*) +y /? -3+

\/y(x+y—1)—3(x2+y2)+6xy—31—\/xy+x(x+y)+

http://toanphothong.vn/showthread.php?t=8133
rx+\/x2 -y’ _%

) X—+x’ —y’ 5

Xx S5+3x .

ly 6(5-y)

http://toanphothong.vn/showthread.php?t=7881

http://toanphothong.vn/showthread.php?t=5140

{x“(zx2 +y?) =y (16 +2x%)

2x+y)+Vx +1=2(x+y+11)

3x+10/xy —y=12

6(x*+y?)
x+ X YD) Hixt+y?) <3

X +Xy+y

http://toanphothong.vn/showthread.php?t=8023

http://toanphothong.vn/showthread.php?t=7948

xy +4/2(x* +y*) =1

2
X33X4+4=—
y( YY) 213

{(X—Z)(Zy ~=x"+2y-28

2(JVX+2y +y)=x>+x

http://toanphothong.vn/showthread.php?t=7721

http://toanphothong.vn/showthread.php?t=7733

{\/(X—l)(Zx—y)—Zy +\/x—y=y+1

VX+2y=y+1

\/3x+2y—\/x+y = 1
Vx+1+x-y = 0

http://toanphothong.vn/showthread.php?t=7257

http://toanphothong.vn/showthread.php?t=7245

{ —xy(x+y)=2x3—y3

x’ -y’ +(2x—1)(y—1) =2(x—1)\/ﬂ

i (xy* 1) 39* [y +1)=2 5w+ 237y

\/g(xzy + 1) =2x’

http://toanphothong.vn/showthread.php?t=7256

http://toanphothong.vn/showthread.php?t=7255

{(3y2 —4y)2 +43y° =57y =—x"—x-48

\/1—x+y—x2—y2 =y’ +2y+3

1
x* =3y’ +2xy’ =Z(y—x)

X2y=x\/y—1 +y\/xy—1

http://toanphothong.vn/showthread.php?t=7446

http://toanphothong.vn/showthread.php?t=7447

x’(2+3y)=8
x(y'-2)=6

xX’y? +y* +1=3y’
Xy’ +x =2y

http://toanphothong.vn/showthread.php?t=7449

http://toanphothong.vn/showthread.php?t=7445
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(x2 + yz)(xy + 1)2 = 9x2y2
x* +y)(xy +1)° =27x%y’

x’+y=6
y +x=-6

http://toanphothong.vn/showthread.php?t=7088

http://toanphothong.vn/showthread.php?t=7082

(x? —11x+6)\/ﬂ=2((y—1)2 +3)\/yTl

3y2(y—x+3)+x2+xy=x3

{M—Jx—& — oy
VX216 =2 +,fy-3x

http://toanphothong.vn/showthread.php?t=7059

http://toanphothong.vn/showthread.php?t=7087

X’ +y* +z° =1
3 +3 +3°=5

,(x,ye R)

{3y2 +2y(x+1)+1=4dyyx’ +2y+1

y(y-x)=3-3y

http://toanphothong.vn/showthread.php?t=7244

http://toanphothong.vn/showthread.php?t=5573

x’—2y—6=8y+17
(\8y? + 24y + 18+ 22 + 242y + 3V2)(\/x* +2 = %)

2x+\/1—x+y—x2—y2 =1
2x’ -2y’ =1

http://toanphothong.vn/showthread.php?t=6985

http://toanphothong.vn/showthread.php?t=6935

X +y +xy+1=4y
y(x+y)2 =2X2+7y+2

x*+y’ =1
x’ -6y’ —2x’y =3y(xy—1)

http://toanphothong.vn/showthread.php?t=7025

http://toanphothong.vn/showthread.php?t=6724

—(x+y)’+8(x+y)+8=0
Bx+3y+6)—(3x—-3y+2)/x+y+1=0

(4+ y:ZXJ&ﬂﬁ

http://toanphothong.vn/showthread.php?t=6786

http://toanphothong.vn/showthread.php?t=7042

y' =(x-1’

yA+y)+x’y’2+y)+xy’-30=0
Xy +x(1+y+y)+y-11=0

http://toanphothong.vn/showthread.php?t=6718

http://toanphothong.vn/showthread.php?t=6809

{xz—xy+7x+y=8

x'+2x° -5x" +y* —6x-11=0

4
Vx(vVx =) =(Vx1-x-1) -4 Y -7-6 (x,ye R)
2
y =7
http://toanphothong.vn/showthread.php?t=6896 | http://toanphothong.vn/showthread.php?t=6848
X+—5X;|-7\/§y=7 R
X +y xX+y
7\/gx—5y JX+y=x' -y
yt— . 5 =0
X +y

http://toanphothong.vn/showthread.php?t=6921

http://toanphothong.vn/showthread.php?t=5578
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2y’ —x* =1
2X3—y3=2y—X.

{\/;+\/X2+y+3=2,

2Jx+4+3y+8 =13,

http://toanphothong.vn/showthread.php ?t=6569

http://toanphothong.vn/showthread.php?t=6312

{(x+1)(y+1)+1=(x2+x+1)(y2+y+1)

X +3x+ (x> —y+4) X —y+1=0

X+y=4X-Y
Vx> —xy—-2y> =2x+y-3

http://toanphothong.vn/showthread.php?t=6542

http://toanphothong.vn/showthread.php?t=6606

JxP-x-y= y

3X_y

2(x* +y*)-3v2x-1=11

Y +y’x+3x-6y=0
X +xy=3

http://toanphothong.vn/showthread.php?t=6382

http://toanphothong.vn/showthread.php?t=6373

X+2y+24x+y =1
2(x +3) = /46 — 2y(3 — 8x — 8y)

1+ xy + /Xy =X,
1 1
— =—+3y.
X\/;-I-y\/; \/;"' \/;

http://toanphothong.vn/showthread.php?t=6401

http://toanphothong.vn/showthread.php?t=6401

4\ x—-1—-4y-1=7
X+3x+5y=10

4\ x—-1—-4y-1=7
X+3x+5y=10

http://toanphothong.vn/showthread.php?t=6451

http://toanphothong.vn/showthread.php?t=6454

6= —2=13x—y +3y
y

2¢3x+43x-y =6x+3y—-4

{(17—3x)\/§+(3y—14).\/ﬁ=0

22x+y+5+33x+2y +11 = x> + 6x+13

http://toanphothong.vn/showthread.php?t=6172

http://toanphothong.vn/showthread.php?t=6171

X+y+x’ -y’ =12
yWx' -y’ =12

x*+y'—xy=3
\/x2+1+\/y2+1=4

http://toanphothong.vn/showthread.php?t=6145

http://toanphothong.vn/showthread.php?t=6134

2
V2x +1 +\/2y+1=(X y)

x+y)(x+2y)+3x+2y=4

Vx+1+4y-1=4
VX+6++y+4=6

http://toanphothong.vn/showthread.php?t=6030

http://toanphothong.vn/showthread.php?t=6321

x+y’ =y’
y+x' =x’

{(x —y)* =13x—4,

\/x+y+\/3x—y=\/5.

http://toanphothong.vn/showthread.php?t=6048

http://toanphothong.vn/showthread.php?t=6035

1 2x

-+ —
3x 3y’ 2x’+y’

J2y+20 =x"+x-5

X+y

x+\y=6
VX+7+y+7=8

http://toanphothong.vn/showthread.php?t=6072

http://toanphothong.vn/showthread.php?t=6045
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{y—x+1+\/5=\/x+1+\/2—x

2x’ —y* +x’y? =2xy - 3x* + 3y

{xs - 6x’y=8y’ -6

4xy’ +x=2y++2y-x+1+1

http://toanphothong.vn/showthread.php?t=6125

http://toanphothong.vn/showthread.php?t=6074

x'+dy=y* +4x

-5x*+y’—6x—-11=0
3)y’-7-6

VY =7

x* +2x°

x> +x=

http://toanphothong.vn/showthread.php?t=5698

http://toanphothong.vn/showthread.php?t=5696

{ x'+y +x%y =x’ + X’y +x°

—10x* —5x + 12y — 11 =2x"3/7x* =Ty + 2x + 7

\/1+ 1-x° —x(1+2\/1 y?)

1

\/X+1 \/y+1 \/1+\/7

http://toanphothong.vn/showthread.php?t=5691

http://toanphothong.vn/showthread.php?t=5708

-y =D+ Yx+y) +(x =1 +6 =x +2
x*+3xy+y’ =1

\/9X+X+2\/y+§=4
X y
Y X

http://toanphothong.vn/showthread.php?t=5727

http://toanphothong.vn/showthread.php?t=5716

X+y —yJyx+3y’ =0

2 2
2y2—3y—x+1+,/%yl+1=0

VX +y =22 )y 2 =X 2 X =y =x+yH

xyz—xz—yz—%(@+&+&)+2=0

http://toanphothong.vn/showthread.php?t=5712

http://toanphothong.vn/showthread.php?t=5706

J45+2y —\20-x =2

{\/30+x—\/18—y=1

x+1+4\y+1=2

72xy +293x* -y’ =4

X—Yy

http://toanphothong.vn/showthread.php?t=5610

http://toanphothong.vn/showthread.php?t=5603

Xx+41-y =1,
y+V1-x* =+/3.

x-y ¥ -y -y,
J1-x2 +y? ’
y-Xyx’-y* 7

| V1-X"+y? 4

http://toanphothong.vn/showthread.php?t=5670

http://toanphothong.vn/showthread.php?t=5538

{ x4—3\/;=3x+y
xJy(y —1) = 3(x +/y)

V2x—-1-y(1++v2x-1)=-8
y +yv2x—-1+2x=13

http://toanphothong.vn/showthread.php?t=5484

http://toanphothong.vn/showthread.php?t=5683
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Xy +Vx=-2=2
dy\x -y +32x -y’ =44

VAX+5+y' +8=6

{ x°+xy' =x" +y°

http://toanphothong.vn/showthread.php?t=5492

http://toanphothong.vn/showthread.php?t=5481

\/)q+(x—y)(\/;—2)+\/;=y+\/;

(X+1)[y+ Xy +x(1—x):|=4

(x

\/X2+y2—xy(x—y)+\/xy—y2 =2\/5(X—y—1)

http://toanphothong.vn/showthread.php?t=5508

http://toanphothong.vn/showthread.php?t=5404

2
x*+y> + XY -1
X+y

Jx+y=x'-y

(y® — 4y —8)(x* + 3) = 643x
v(y* — 6y +12) = 8(1 + xvx)

http://toanphothong.vn/showthread.php?t=5131

http://toanphothong.vn/showthread.php?t=5143

(2x + 3Wdx — 1 + 2y + 3)/dy — 1 = 2{/(2x + 3)(2y + 3)
X +y =4xy

V1+2x% +4/1+2y =2,/1+2xy

Jx(1 = 2x) ++y(1 - 2y) =§

http://toanphothong.vn/showthread.php?t=5238

http://toanphothong.vn/showthread.php?t=5142

(11y2x+y —164/x+ 3y)x = y(13x + 3y — 23/2x +y)

2
, . 4x +8x=

X -y + -4

VX+1+4y+1=3
xdy+1+ny+1+Jx+l+Jy+1=6

http://toanphothong.vn/showthread.php?t=5305

http://toanphothong.vn/showthread.php?t=5249

VX' —x-y= y

3X_y

2(x*+yH)-3v2x-1=1

{x3—8+\/;=\/;

(x-1'=y

http://toanphothong.vn/showthread.php?t=5069

http://toanphothong.vn/showthread.php?t=5351

y:+2yVx’ —1=26-x’
vy +yvx-1=10

1 1 1 1
+ = +

VI2x+8  \24y+20 \3x+18y+17 /9x+6y+

x’—(3x+8)y+5=0

http://toanphothong.vn/showthread.php?t=5083

http://toanphothong.vn/showthread.php?t=5068

(1— 12 J x=2
y +3x

{ x+y—/xy =1

Jx+3 +\/y2+3=4

http://toanphothong.vn/showthread.php?t=4796

http://toanphothong.vn/showthread.php?t=5129
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{\/2(342 +¥2)+2(5x - 3y) —4(xy - 3) =y =Vx +2

Y —4x+y)+17 - Yxy - 3(x +y) +18 =1

2 1
+ U - 12y+1=—(x>+17
y 3 y 12( )

x’  2x x> x* y

—t—=
8y 3 3y 4 2

http://toanphothong.vn/showthread.php?t=4653

http://toanphothong.vn/showthread.php?t=4645

VX —(x+y) = : y

X—-Yy

2(x* +y*)-3v2x-11=11

{(x2 +9)(x> +9y) = 22(y — 1)

X’ —2—4y\y+1=0

http://toanphothong.vn/showthread.php?t=4927

http://toanphothong.vn/showthread.php?t=4912

22x+y —/5x+8 =2

{\/7x+y—\/2x+y=4

(y+2) +4x(x—y)=4y(2x-1) +5

2 2
3x x+1 X _ﬁ_l_ 1

y xz_xﬁ

http://toanphothong.vn/showthread.php?t=4455

http://toanphothong.vn/showthread.php?t=4942

—x’y +2xy’ + 3y’ —4(x+y)=0
xy(x’ +y*)—-1=3xy—(x+y)’

{ (23 -3x)T—x +(3y —20)/6—y =0

J2X+y+2—\/-3x+2y+8 +3x’—14x -8 =0

http://toanphothong.vn/showthread.php?t=4504

http://toanphothong.vn/showthread.php?t=4470

{\/5x+y—\/x+3y =3

72x + 3y +14x — 28y = 297

x+8=42y—X.y+4
x> +2x+y=yVx’ —x+4

http://toanphothong.vn/showthread.php?t=2469

http://toanphothong.vn/showthread.php?t=3749

2
X+—=y+—
Yy X

Vx+8-\2y+2=3y-2

{2\/2x—3y+\/5—x+y=7

3/5-x+y—+2x-y-3=1

http://toanphothong.vn/showthread.php ?t=4647

http://toanphothong.vn/showthread.php ?t=4547

X3+X2(y+1)+3x+2xy=y3+(x—1)y2+3(y—1)
%/x2—3y+5=\/y—2+1—x

xy =15+ 3x+2y
X’ +y> =45+ 2x+4y

http://toanphothong.vn/showthread.php?t=4286

http://toanphothong.vn/showthread.php?t=4253

yo+y’ +2x% = /xy — x’y?
8xy’ +2y° +% =4x* +3x% +x+ 21+ (2x —y)?

X’ +y*+x+y=4
x(x+y+D+y(y+1)=2

http://toanphothong.vn/showthread.php?t=4144

http://toanphothong.vn/showthread.php?t=4321

24/3x—5+3/8y* =3x+9=7

{xz +2xy” + 2y = X + 2xy + 4y’

/x+ +4x+y-3=3

2x+y+—
y

http://toanphothong.vn/showthread.php?t=4060

http://toanphothong.vn/showthread.php?t=4354
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yo+y? +2x% = /xy - x’y?
1
4xy’ +y’ +522x2 +y1+(2x—-y)’

{(x—y)(xz +y*)=13
(x+y)(x>—y*) =25

http://toanphothong.vn/showthread.php?t=3822

http://toanphothong.vn/showthread.php ?t=4449

2y =Ty +10-x(y+3) +/y +1=x+1

3
y+l+——=x+2y
x+1

X2 N y2 _1
(y+1* (x+17* 2
3xy=x+y+1

http://toanphothong.vn/showthread.php?t=3844

http://toanphothong.vn/showthread.php?t=4198

2xy

IYx?=2x+9

2xy

yt+—F———
Jy’ -2y+9

X+ =x"+y

=y’ +x

x+3=2J@By-x)(y+1)

\/3),7_2_ /X;S =xy—-2y-2

http://toanphothong.vn/showthread.php?t=3354

http://toanphothong.vn/showthread.php?t=3923

xy =3

X+y-—
{Vx+1+dy+1=4

X+y=+X+Yy

{{/ﬂﬂ—y

http://toanphothong.vn/showthread.php?t=3107

http://toanphothong.vn/showthread.php?t=2197

16x,/y =16 - 4x>

2X+\/;
2x° = 3%’ +3Yx* + 3y 12 -4=0

y+

JS_x(HXiyJ:z
\/5(1— ! J=4\/5

http://toanphothong.vn/showthread.php?t=3649

X+y
http://toanphothong.vn/showthread.php?t=3595

{ﬁwﬁﬂﬁ
Vx +45y =3

{2x—y+\/x—1=\/2x—2+2(2x—y)2

y:+4xVx—-1=17

http://toanphothong.vn/showthread.php?t=3675

http://toanphothong.vn/showthread.php?t=3689

'X—y lxz_yz _\/5

1-x>+y> 2
y-xyx -y’ 2

1-x*+y> 2

\

2
3 2
2x3+x2y+xy2+(x+§J =y3—%

V2+x+42y-1=5

http://toanphothong.vn/showthread.php?t=2963

http://toanphothong.vn/showthread.php?t=2848

y—-1=6

X+
JXE+2x+y +2xy—1+2y—1=29

X+Yy=2xy
(x+3IV2x =1+ (y+ 32y -1 =2/(x+3)(y +3)

http://toanphothong.vn/showthread.php?t=2976

http://toanphothong.vn/showthread.php?t=2971

X+2y+24x+y=1
J46 —16y(x +y)— 6y + 4 /dx +y =8 —dy

VX’ +6y=y+3

http://toanphothong.vn/showthread.php?t=1949

http://toanphothong.vn/showthread.php?t=2982
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5
X—\y+1l=—
YT
3
y+2(x=-3Vx+1=——

4

{2x2 ~3y*=4

V3xy -y’ =xy

http://toanphothong.vn/showthread.php?t=2674

http://toanphothong.vn/showthread.php?t=2851

{\/3+ 2x’y —x'y? +x*1-2x%) =y*

1+1+(x-y)’ =x’(x* = x +2y?)

x+y’=2
x> +xy+y =y

http://toanphothong.vn/showthread.php?t=2809

http://toanphothong.vn/showthread.php?t=2585

{\/x+y+\/2y+3=10

22x+y+12 - J4x+6y -6 =6

Y +V2=x+1+y—34=—xy+2y

{x2+\/2—x+«/1+y—34=2xy+x

http://toanphothong.vn/showthread.php?t=2762

http://toanphothong.vn/showthread.php?t=2235

y? +(4x—1)> =3/32x* + 4x
40x* +x = yv14x -1

VX+1+4y+1=2
72
= r29Yx> —y? =4

X-Yy

http://toanphothong.vn/showthread.php?t=2821

http://toanphothong.vn/showthread.php?t=2822

x(x+y)’ =9
x(x*-y’)=7

(Jx  y+1_x+y

2 \/; X

2\/;_|_x—2=2y+x

Wy

http://toanphothong.vn/showthread.php?t=2567

http://toanphothong.vn/showthread.php?t=2441

(3x+y)(x +3y)/xy = 14
x+y) (x> +14xy +y*) =36

8xy _16

x*+y+
X+y

Jx+y=x'-y

http://toanphothong.vn/showthread.php?t=543

http://toanphothong.vn/showthread.php?t=542

9X3+X—(y—§}/3y—6 =0

X +X+2=4y+2

\/2X+y—\/5X+3y=—2
\J2X+y +5x—-y=8

http://toanphothong.vn/showthread.php?t=815

http://toanphothong.vn/showthread.php?t=745

V2x+246-x—y* =22
ax + 206 —x + 242y =8 ++2

6—X—2= 3x—-y+3y

y

2¢3x++/3x—y =6x+3y-4

http://toanphothong.vn/showthread.php?t=920

http://toanphothong.vn/showthread.php?t=646

5 5
—=X+,--y=2
\/2 \/2 y
I
2 2

{\/4x—y—\/3y—4x=1

2\3y-4x+y(5x—-y)=x(4x+y)-1
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http://toanphothong.vn/showthread.php?t=1038

8
X +y Y 16
X+y
X 2x_|x° X'y
8y 3 3y 4 2

http://toanphothong.vn/showthread.php?t=950

N BN A
4 X+y

&1 2x +4y

e E|
4 X+y

http://toanphothong.vn/showthread.php?t=1197

http://toanphothong.vn/showthread.php?t=863

\/3x+y +\/x+y =2
NX+y+x-y=1

J5x +16 ++/20y +9 =710

{ﬁn 5y =21

http://toanphothong.vn/showthread.php?t=1139

http://toanphothong.vn/showthread.php?t=1242

2y’ -x)=6x>+7x-y+3

2\/3—y+\/2(1+y)=1/%x2+4

{4\/2y +24+xV2x+4 =3 +6y-10

x*—y*+3y*-3x=2

http://toanphothong.vn/showthread.php?t=1403

http://toanphothong.vn/showthread.php?t=1403

x—y’ +3y’ -3x=2

{4«/2y+2 +x*2x+4 =3x% + 6y —10

x(x - 8y’) = -12(4y’ - 3x)

{\3/6)( +1-2(y—3x) =8y’ -1

http://toanphothong.vn/showthread.php?t=1177

http://toanphothong.vn/showthread.php?t=1307

x* 42y =x’y + 2xy

2x -2y —1+3y' 14 =x -2

y+x’ =2
2xX  +X++/X+y+xy+1=5

http://toanphothong.vn/showthread.php?t=1324

http://toanphothong.vn/showthread.php?t=1592

{\/X2+1+X=y+\/y2—l

X +y’ —xy=1

Vx+1+.J4-2y +5+2y-(x-1)? =5
'+ (x—y) =6xy+y’

http://toanphothong.vn/showthread.php?t=1484

http://toanphothong.vn/showthread.php?t=1484

x2+§/y2+1=\/y2+9+5
y+2 +1=\2 +9+5

2+ +1=Vx2+9+5

x2+§/y2+1=\/y2+9+5
y+2 +1=\2 +9+5

2+ +1=Vx2+9+5

http://toanphothong.vn/showthread.php?t=1499

http://toanphothong.vn/showthread.php?t=1780

1, 2x_x+yy

3x 3y 2x’+y
202x++Jy)=\V2x+6 -y

x> +xy+y’ =192

http://toanphothong.vn/showthread.php?t=1758

http://toanphothong.vn/showthread.php?t=1654

x> =8y’ =2xy(1-2y)

\/x3+4x=1+M
3

4 4 2 2
X |y X y [ X%
—4+—4—3—2—3—2+—+—=

y X y X Yy X

2(x—y)=\/m—y2

-6
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http://toanphothong.vn/showthread.php?t=2156

http://toanphothong.vn/showthread.php?t=1856

Jx+¥32-x-y*=-3
#x +432-x +6y =24

VXt x 4144y +y—1=4
VX +x+6 +\/y2+y+4=6

http://toanphothong.vn/showthread.php?t=2274

http://toanphothong.vn/showthread.php?t=2208

X+ x*+2y+1=xy+y+1
(x+y-Dyy+1=10

x*+y’—xy=3
\/X2+1+\/y2+1=4

http://toanphothong.vn/showthread.php?t=2205

http://toanphothong.vn/showthread.php?t=2212

{E-ﬁ:s—f
(x-D'=y

Jx+y+1+1=4(x+y) +V3x+y

2x—y=%

http://toanphothong.vn/showthread.php?t=1094

http://toanphothong.vn/showthread.php?t=5689

{\/X2+y2 +\/E=8\/E
Jx+4y =4

{\/4)(2 +(dx—9)(x—y) ++/xy = 3y

4(x+2)(y +2x) =3(x + 3)
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